
Line no Palle Nr tilhører Transport Ordre Site Part No Part Description Location No Serial No Warehouse Manufacturer Name Manufacturer's Part No On Hand Qty Notes

17 11 PS 21349 2050 1515315 INSERT CARRIER, 9 5/8" - 10 3/4",VB NOMONCOT1_SALE NL 16179 MONGSTAD,OUT VARCO 202443-963 1 INSERT CARRIER, 9 5/8" - 10 3/4",VBJ PS-30, FOR 

16"SLIP BODY Supplier.: Carrier Assy less inserts 

:202443-1 Range.:9 5/8" - 10 3/4" Slip Body.:16" 

Rating.:750 T Nom. size.:9 5/8" Zip DC.: Plain DC.: 

Insert.:2656, 144 ea Can also be dressed for:10 3/4" 

with Insert:2656, 144 ea

18 13 PS 21349 2050 1515316 INSERT CARRIER, 6 5/8" - 7 5/8", VB NOMONCOT1_SALE NL 16276 MONGSTAD,OUT VARCO 202445-700 1 INSERT CARRIER, 6 5/8" - 7 5/8", VBJ PS-30, FOR 

16"SLIP BODY Supplier.: Carrier Assy less inserts 

:202445-1 Range.:6 5/8" - 7 5/8" Slip Body.:16" 

Rating.:750 T Nom. size.:7" Zip DC.: Plain DC.: 

Insert.:2623, 72 ea Can also be dressed for:6 5/8" with 

Insert:2632, 72 ea Can also be dressed for:7 5/8" with 

Insert:2633, 72 ea

19 14 PS 21349 2050 1515317 INSERT CARRIER, 8 1/2"-9 1/2", VBJ NOMONCOT1_SALE NL 13831 MONGSTAD,OUT VARCO 202271-900 1 INSERT CARRIER, 8 1/2"-9 1/2", VBJ PS-30, FOR 0 

3/4"SLIP BOD Supplier.: Carrier Assy less inserts 

:202271-1 Range.:8 1/2" - 9" Slip Body.:10 3/4" 

Rating.:100 T Nom. size.:9" Zip DC.:9 1/2" Plain DC.:9" 

Insert.:2633, 33 ea Can also be dressed for:8 1/2" with 

Insert:2652, 36 ea Can also be dressed for:8 3/4" with 

Insert:2655, 36 ea

20 14 PS 21349 2050 1515318 INSERT CARRIER, 7 1/2 - 8" ZIP GROO NOMONCOT1_SALE NL 13838 MONGSTAD,OUT VARCO 202272-750 1 INSERT CARRIER, 7 1/2 - 8" ZIP GROOVE DC, VBJ PS-30 

Supplier.: Carrier Assy less inserts :202272-1 Range.:7 

1/2" - 8" Slip Body.:10 3/4" Rating.:100 T Nom. size.:7 

1/2" Zip DC.:8" Plain DC.: Insert.:2652, 36 ea Can also 

be dressed for:7 3/4" with Insert:2655, 36 ea Can also 

be dressed for:8" with Insert:2633, 36 ea

21 14 PS 21349 2050 1515319 INSERT CARRIER, 5 3/4" - 6 1/2", VB NOMONCOT1_SALE NL 14385 MONGSTAD,OUT VARCO 202275-600 1 INSERT CARRIER, 5 3/4" - 6 1/2", VBJ PS-30 Supplier.: 

Carrier Assy less inserts :202275-1 Range.:5 3/4" - 6 

1/2" Slip Body.:10 3/4" Rating.:100 T Nom. size.:6" Zip 

DC.:6 1/2" Plain DC.: Insert.:2652, 36 ea Can also be 

dressed for:5 3/4" with Insert:2638, 36 ea Can also be 

dressed for:6 1/4" with Insert:2655, 36 ea Can also be 

dressed for:6 1/2" with Insert:2633, 36 ea

22 14 PS 21349 2050 1515320 INSERT CARRIER, 4 3/8" - 4 3/4", VB NOMONCOT1_SALE NL 14979 MONGSTAD,OUT VARCO 202276-438 1 INSERT CARRIER, 4 3/8" - 4 3/4", VBJ PS-30 Supplier.: 

Carrier Assy less inserts :202276-1 Range.:4 3/8" - 4 

3/4" Slip Body.:10 3/4" Rating.:100 T Nom. size.:4 3/8" 

Zip DC.:4 3/4" Plain DC.: Insert.:2172, 24 ea Can also 

be dressed for:4 3/4" with Insert:2165, 24 ea

23 16 PS 21349 2050 1515324 GUIDE ASSEMBLY, 13 3/8", VBJ PS-30 NOMONCOT1_SALE 202386 MONGSTAD,OUT VARCO 202386-1338 1 GUIDE ASSEMBLY, 13 3/8", VBJ PS-30

24 6 PS 21349 2050 1515326 GUIDE ASSEMBLY, 7", VBJ PS-30 NOMONCOT1_SALE 202386-700 MONGSTAD,OUT VARCO 202386-700 1 GUIDE ASSEMBLY, 7", VBJ PS-30

25 8 PS 21349 2050 1515357 BUSHING 10 3/4" FOR PS 30 NOMONCOT1_SALE * MONGSTAD,OUT N/A N/A 1 BUSHING 10 3/4" FOR PS 30

26 8 PS 21349 2050 1515358 BUSHING 13 3/8" FOR PS 30 NOMONCOT1_SALE * MONGSTAD,OUT N/A N/A 1 BUSHING 13 3/8" FOR PS 30

28 4 PS 21349 2050 1515308 SLIP ASSEMBLY, 6 5/8" - 16", VBJ PS NOMONCOT1_SALE NL 15469 MONGSTAD,OUT VARCO 202430-1 1 SLIP ASSEMBLY, 6 5/8" - 16", VBJ PS-30, 750T 

Supplier.: Range.:6 5/8" - 16" Rating.:750 T

29 4 PS 21349 2050 1515314 INSERT CARRIER, 13 3/8"- 14", VBJ P NOMONCOT1_SALE NL 16271 MONGSTAD,OUT VARCO 202441-1338 1 INSERT CARRIER, 13 3/8"- 14", VBJ PS-30, FOR 16" SLIP 

BODY Supplier.: Carrier Assy less inserts :202441-1 

Range.:13 3/8" - 14" Slip Body.:16" Rating.:750 T Nom. 

size.:13 3/8" Zip DC.: Plain DC.: Insert.:2636, 168 ea 

Can also be dressed for:14" with Insert:2635, 168 ea



30 10 PS 21349 2050 1515322 INSERT CARRIER, 2 3/8" - 3 1/2", VB NOMONCOT1_SALE NL 13869 MONGSTAD,OUT VARCO 202277-288 1 INSERT CARRIER, 2 3/8" - 3 1/2", VBJ PS-30 Supplier.: 

Carrier Assy less inserts :202277-1 Range.:2 3/8" - 3 

1/2" Slip Body.:10 3/4" Rating.:500 T Nom. size.:2 7/8 

Zip DC.: Plain DC.: Insert.:2161, 36 ea Can also be 

dressed for:2 3/8" with Insert:2160, 36 ea Can also be 

dressed for:3 1/2" with Insert:2162, 36 ea

31 8 PS 21349 2050 1515359 BUSHING 9 5/8" FOR PS 30 NOMONCOT1_SALE * MONGSTAD,OUT N/A N/A 1 BUSHING 9 5/8" FOR PS 30

43 6 PS 21349 2050 1515327 GUIDE ASSEMBLY, 5 1/2", VBJ PS-30 NOMONCOT1_SALE 202386-550 MONGSTAD,OUT VARCO 202386-550 1

44 9 PS 21349 2050 1515311 HANDSLIPS BOWL NO. 2, VARCO BJ PS-3 NOMONCOT1_SALE NL27804 MONGSTAD,OUT VARCO 202363 1

45 9 PS 21349 2050 1515312 HANDSLIPS BOWL NO. 3, VARCO BJ PS-3 NOMONCOT1_SALE NL26487 MONGSTAD,OUT VARCO 202364 1

47 15 PS 21349 2050 1515307 SLIP ASSEMBLY, 10 3/4", 14" 500T EL NOMONCOT1_SALE NL15323 MONGSTAD,OUT VARCO 202430-2000 1

16 12 21349 2050 1515266 SLIP ASSEMBLY, 10 3/4", 14" 500T EL NOMONCOT1_SALE NL 14956 MONGSTAD,OUT VARCO 13839Y3 1 SLIP ASSEMBLY, 10 3/4", 14" 500T ELEVATOR/SPIDER 

Supplier.: Slip Body.:11 3/4" Elevator bottom Guide 

:11795 Spider Top Guide.:18419-8 Slip Set.:13839-3 

Insert Set.:2640-40B-80

46 12 21349 2050 1515265 SLIP ASSEMBLY, 9 3/8", 14" 500T EL NOMONCOT1_SALE NL15254 MONGSTAD,OUT VARCO 13840Y1 1


